2018 Uw

wlwallg alacll

s balii Ly alac Dl wiji -1

17 44
8<8003<811< —<—
2 5
: adll wllaoll jail g gl -2
: gaall -
31527 + 1459,95 = 32986,95
: ashll -
32986,95 — 124,92 = 32862,03
: gyl -
1789 x 24,3 = 43472,7
. aouad)l -
6575 + 12,5 =526
s il lo wunal -3
: gaall -
3+1_6+1_7
2 4 4 4 4
sl -
6 2 12 4
—_ —_= —=—
373 9 3
: ol -
7 4 21 16 5
4 3 12 12 12
: alwo -4

: 9@ gylunll wnéuéall Jghll
95 x 15000 = 1425000 mm = 1,425 km
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Sb=RxRxn=0,4x0,4x3,14
Sb =0,5024 dm?

V=Sb x h=0,5024 x 2
V=1,0048 m?
V=1004,8 |
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h =60 X g=10m
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(60 + 18) x 10 ,
S = 2 =390 m
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2,14 hm 65,3 km 83 m = 655,97 hm
11,7 q 4602 dag = 1,21602 t
9,3 ha 510 m? 14,187 a= 94928,7 ca
76,2 cm?® 0,89 | 26 dm® = 2696,62 cl
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https://fr.wikipedia.org/wiki/Pi_(lettre_grecque)



